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9IT-1/Part-1

e : 3@ 9 H HA 15 99 2 Gl wed rfrerd €)1 vy ueR & fod 02 sie frwifa €

Note: There are 15 questions in this part. All questions are compulsory. Each question carries 02 marks.

. feg fawm@ U a0 22 T euRon feen & @2

What is ‘Hindu Growth Rate’? Who has given this concept?

. A AT 9 AR = AR 22

What do you mean by International Liquidity?

. W] WA S W Y HEEd €7

What do you understand by Current Account Deficit?

. HE WHR & T AT & 9 faradl

Write two revenue sources of the Central Government.

. ‘diegd fod WM ® ey % ar ¥ fage St

Discuss about the Chairman of 14" Finance Commission.

. Rfa s I R

What is ‘“NITI” Commission?

qRd & Frafa & 1 ferel di wq@ gAfael i el

State any three important challenges of India’s export sector.

. TrE FrEEe # aieoTenss Aty § ST R SN ©?

What do you mean by quantitative methods of credit control?

Eaisefl

[ SO G 20 9SS |
[Answer Limit : 20 Words]

[ SO €| 20 9SS |
[Answer Limit : 20 Words]

[ SO G 20 9SS |
[Answer Limit : 20 Words]

[ 3R || 20 IEE |
[Answer Limit : 20 Words]

[ ST G 20 IS |
[Answer Limit : 20 Words]

[ TR 9T 20 IS |
[Answer Limit : 20 Words]

[ TR G 20 IS |
[Answer Limit : 20 Words]

[ 3R || 20 IEE |
[Answer Limit : 20 Words]

. qArd deE T AT % SO S wqel Geent A s URY | i ol & {ael % RO i O

[ STX 9 20 I |

List reasons for the gap of three years between the termination of the Third Five Year Plan and the beginning

of the Fourth Year Plan.

aRd o & ©: g w22

What are the six components of Bharat Nirman?

qRd § ST 1 ‘ST SHRd SR’ $hy B 67

How is ‘use based classification’ of industries in India?

HEA A F B €7
What is cropping intensity?

[Answer Limit : 20 Words]

[ 3R || 20 IEE |
[Answer Limit : 20 Words]

[ ST G 20 9SS |
[Answer Limit : 20 Words]

[ ST G 20 9SS |
[Answer Limit : 20 Words]
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SIS T & U9 FA IR 59 Al & wm w9 fem € % 9w fafed)
[ ST G| 20 IS |
Name Panch Prayag and the rivers on whose confluence they are situated, of Uttarakhand State.
[Answer Limit : 20 Words]

Aret T fo iy 272 [ ST €T 20 96T |

What for is Auli famous? [Answer Limit : 20 Words]

HIT (H1eT) WS 1 2?2 [ ST € 20 9T |

What is Yartsa-Gumba/cordyeeps sinensis/keeda jadi? [Answer Limit : 20 Words]
HAT-2/Part-2

( 3TfereRaw 3feh- 50/Maximum Marks— 50 )

e ;39 9 W HA 10 G &1 Wl g9 eaferd €1 yekw wed & fed 05 ot fwifa ®)

Note: There are 10 questions in this part. All questions are compulsory. Each question carries 05 marks.

anifefen FaeH i aRwifoa 1S iR 3o 91 SEva 1 THenegd| [ STR G 50 I |

Define economic planning and explain its basic objective. [Answer Limit : 50 Words]

1991 ¥ 9RA &I SAMR ifd § GURWS I3 T HeH | ¥ fohel dH il gHsmsy)

[ TR 9T 50 I |
Explain any three reform measures that have been introduced in India’s trade policy since 1991.

[Answer Limit : 50 Words]

facett fafma geem rfufem (b)) W g eifed [ TR 9T 50 IS |
Throw light on Foreign Exchange Management Act (FEMA). [Answer Limit : 50 Words]
qog afgd Y (92) 1 AR Hifed| [ SR HHT: 50 I |
Explain Value Added Tax (VAT). [Answer Limit : 50 Words]
GrE GO 9 3TqeRT 1 AR © 2 [ SR HH: 50 I |
What do you mean by credit creation? [Answer Limit : 50 Words]
93 1 gl qfad-aar @ o9 @ gHe §? [ ST HmT: 50 9T |
What do you understand by full convertibility of rupee? [Answer Limit : 50 Words]
IO SWES F @ JeR 3R SEr w1 foeror s [ ST 9 50 9SS |

Give an account of the extincting occupation and industries of rural Uttarakhand.
[Answer Limit : 50 Words]

T 1 HeE i § wet wiufa w1 e gfiee 22 [ ST || 50 I |

What is the role of Mandi Committees in the plain agriculture of the State? [Answer Limit : 50 Words]
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24, RAT Aefemaen § eifih T ® HRON H1 AT S| [ SO HrET: 50 IS |

Explain the causes of industrial sickness in the Indian Economy. [Answer Limit : 50 Words]

25. §&q faa & &= H e &1 i w1 e it [ ST €W 50 9T |

Examine the role of NABARD in Micro Finance. [Answer Limit : 50 Words]
HAT-3/Part-3

( 3TfereRaw 3Teh- 40/Maximum Marks— 40 )

e ;3@ 9 F1a 07 799 7)1 el TR 05 gt 1 S | v e & fed 08 i fawifa 2

Note: There are 07 questions in this part. Candidate should attempt any 05 questions. Each question carries

08 marks.
26. ‘T 9SG’ F T2 STWEUE HT 38 W @1 feha At 7?2 [ ST 9T 125 9SS |
What is ‘Green Bonus’? How strong is the claim of Uttarakhand for it? [Answer Limit : 125 Words]

27. ' faedhal’ #0122 T T § fRE YR ISR TRl i gier feman 22 [ ST | 125 9T |
What is SIDCUL? How has it generated the employment opportunities in the State?
[Answer Limit : 125 Words]

28. SW@UE T | widl-foead Scaed 9 S faag @ ©2 [ 3R €= 125 9T |
What are the disputes related to the Hydro-electric generation in the Uttarakhand State?
[Answer Limit : 125 Words]

29. fava AR HeA Y Te F g2 22 Uk wg o fifed ufewman w g o fafad
[ ST €W 125 91 |

Why has World Trade Organisation been formed? Explaing in brief the process involved in its formation.
[Answer Limit : 125 Words]

30. AU & FEAG fAgr Td ScEswd fagr S THeEd| [ TR || 125 9 |

Explain the Canon of equality and Canon of productivity in taxation. [Answer Limit : 125 Words]

31. 2000-01 ¥ 2013-14 & @Y § 9Rd & =4 ¥ =AUR ¥ gfg * =Aen sif™l 9ra § =4 1 f@ma

HT GHEIAT = 82 [ SF €= 125 9T |

Discuss growth in India’s trade to China during 2000-01 to 2013-14. What are the potentials for India’s

export to China? [Answer Limit : 125 Words]

32. U SN Hefeld tefeqase 1 N Y B2 SIh! hiHAl 7 87 [ ST 9T 125 9SS |

What is meant by a market driven economy? What are its drawbacks? [Answer Limit : 125 Words]|
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( 3TfereRaw 3Teh- 80/Maximum Marks— 80 )

e ;@ 9 A wme 07 999 ) el fRet 05wl 1 SR 21w ueA @ ford 16 3 fawifia )

Note: There are 07 questions in this part. Candidate should attempt any 05 questions. Each question carries
16 marks.

THR 1 oMfefer A7 & syl & w9 ¥ o i 9w A - w9 e e ) e

FHUT W GHAA [ ST =T 250 IeF |
As instruments of economic policy of the Government fiscal policy and monetary policy are complimentary
to each other. Explaing this statement. [Answer Limit : 250 Words]
T 3™ &1 A &1 yq@ fafi &1 g it [ ST i 250 I |
Discuss the main methods of measuring National Income. [Answer Limit : 250 Words]

Are Tt geEehish (HDI) & 9@ feifthl i e sifs| ard & oo o o si-o g8 vqa
2 IR [ STR i 250 v |

Identify the main determinants of Human Development Index (HDI). With special reference to India, which

is most important and why? [Answer Limit : 250 Words]

Hfge GleReiol ¥ o1 Sq9E 87 991 STEUE § TR R UM J=mEdl o Skl el s 9 39 fawn

o W g8 ©?2 [ ST |ET: 250 I |
What is meant by Women Empowerment? Has their greater participation in town and village panchayats in
Uttarakhand, made a progress in this direction? [Answer Limit : 250 Words]|

ot T2 & A o W STErg ¥ S ol 87 $Uh! GURA a1 Hifadl 1 saren wifsdl

[ SR EiH|m: 250 T |
How is disequilibrium created in Balace of Payments of a nation? Explain policies to correct it.
[Answer Limit : 250 Words]

YR g RN GarH 9§ o AU 27 o 39 WEfeRl 1 0T § 59 § helded & Th

ANYE I S S ekl B [ SR EH: 250 9T |
What is meant by value addition through processing? Can fruit production be made a profit making industry
through adopting this technology in the State? [Answer Limit : 250 Words]

T onffer Hifq & ufUed § 9ra § enfefr faism w1 gfte TaqEd @it goais wifsa

[ ST EiH|n: 250 9T |
State and evaluate the role of economic planning in India under the new economic policy.
[Answer Limit : 250 Words]
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